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E–159 

M. A (First Semester)  

EXAMINATION, Dec.-Jan., 2020-21 

ECONOMICS 

Paper First 

(Micro Economics—I) 

Time : Three Hours ]  [ Maximum Marks : 80 

    [ Minimum Pass Marks : 16 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  

(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- fuEufyf[kr esa ls lcls de ek¡x dh yksp fdl oLrq dh gS \ 

¼v½ edku 
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¼c½ Vhoh 

¼l½ dkj 

¼n½ ued 

Which one of the following has lowest elasticity of demand ? 

(a) House 

(b) TV 

(c) Car 

(d) Salt 

2- iSekus ds izfrQy dk lEcU/k % 

¼v½ nh?kZdky 

¼c½ vYidky 

¼l½ mi;qDr nksuksa 

¼n½ buesa ls dksbZ ugha 

Which is related with Returns to Scale ? 

(a) Long period 

(b) Short period 

(c) Both of the above 

(d) None of these 

3- rVLFkrk oØ dk izkFkfed fo’ys”k.k fuEu ij vk/kkfjr gS % 

¼v½ Øeokpd 

¼c½ la[;kokpd 

¼l½ mi;qZDr nksuksa 

¼n½ buesa ls dksbZ ugha 
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Primary Analysis of Indifference curve is based on : 

(a) Cardinal 

(b) Ordinal 

(c) Both of the above 

(d) None of these 

4- izdV vf/keku fl)kUr dk izfriknu fd;k % 

¼v½ fgDl us 

¼c½ lSE;qYlu us 

¼l½ Lohth us 

¼n½ psEcjysu us 

Determination of Revealed Preference Theory is done by : 

(a) Hicks 

(b) Samuelson 

(c) Sweeji 

(d) Chamberlain 

5- vYidky esa ,dkf/kdkj ls gksus okyh vk; % 

¼v½ lkekU; ykHk 

¼c½ vfrjsd ykHk 

¼l½ gkfu 

¼n½ mi;qZDr lHkh 
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In the short run a firm in monopoly competition market  

earns : 

(a) Normal profit 

(b) Abnormal profit 

(c) Loss 

(d) All of the above 

6- iw.kZ izfr;ksfxrk esa QeZ gksrh gS % 

¼v½ dher fu/kkZjd 

¼c½ dher LohdkjdrkZ 

¼l½ buesa ls dksbZ ugha 

¼n½ mi;qZDr nksuksa 

In perfect competition a firm is : 

(a) Price maker 

(b) Price taker 

(c) None of the above 

(d) Both of the above 

7- ,dkf/kÑr izfr;ksfxrk dh /kkj.kk nh % 

¼v½ Jherh tkWu jkWfcUlu us 

¼c½ psEcjysu us 

¼l½ dhUl us 

¼n½ ihxw us 
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Determination of monopolistic competition : 

(a) Smt. Joan Robinson 

(b) Chamberlain 

(c) Keynes 

(d) Pigou 

8- ,d ls vf/kd rVLFkrk oØksa dks n’kkZus okys fp= dks dgrs gSa % 

¼v½ leksRikn oØ 

¼c½ rVLFkrk oØ 

¼l½ rVLFkrk ekufp= 

¼n½ buesa ls dksbZ ugha 

The name of figure of more than one Indifference Curve is  

called : 

(a) ISO product curve 

(b) Indifference curve 

(c) Indifference MAP 

(d) None of these 

9- lewg ladqpu fl)kUr dk izfriknu fd;k % 

¼v½ psEcjysu us 

¼c½ ckWeksy us 

¼l½ fgDl us 

¼n½ fofy;elu us 
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Determination of group equilibrium theory : 

(a) Chamberlain 

(b) Baumol 

(c) Hicks 

(d) Williamson 

10- ek¡x dk fu;e crkrk gS % 

¼v½ oLrq dh dher ,oa oLrq dh ek=k esa foijhr lEcU/k 

¼c½ oLrq dh dher ,oa oLrq dh ek=k esa lh/kk lEcU/k 

¼l½ eqæk vk; ,oa ek=kRed ek¡x 

¼n½ miHkksDrk dh #fp;k¡ ,oa ek=kRed ek¡x 

The Law of Demand states that : 

(a) Price and quantity demanded are inversely related 

(b) Price and quantity demanded are directly related 

(c) Money income and quantity demanded 

(d) Consumer tastes and the quantity demanded 

11- nh?kZdky esa ,d iw.kZ izfr;ksxh QeZ ges’kk izkIr djrh gS % 

¼v½ lkekU; ykHk 

¼c½ vlkekU; ykHk 

¼l½ mi;qZDr nksuksa 

¼n½ mi;qZDr esa ls dksbZ ugha 
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In the long run a firm in a perfectly competitive market  

earns : 

(a) Normal profit 

(b) Abnormal profit 

(c) Both of the above 

(d) None of the above 

12- ,dkf/kdkj esa % 

¼v½ AR = MR 

¼c½ AR > MR 

¼l½ AR < MR 

¼n½ AR = MR = 0 

In monopoly : 

(a) AR = MR 

(b) AR > MR 

(c) AR < MR 

(d) AR = MR = 0 

13- lkekU;r% tc ewY; c<+rk gS rc % 

¼v½ iwÆr c<+rh gS 

¼c½ iwÆr ?kVrh gS 

¼l½ iwÆr ‘kwU; gksrh gS 

¼n½ iwÆr fLFkj gksrh gS 
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Generally price is increase then : 

(a) Increase the supply 

(b) Decrease the supply 

(c) Zero supply 

(d) Constant the supply 

14- ,d miHkksDrk dk lUrqyu ml fcUnq ij gksrk gS tgk¡ ij rVLFkrk 

oØ % 

¼v½ vk; js[kk dks Li’kZ djrk gS 

¼c½ ctV js[kk dks Li’kZ djrk gS 

¼l½ mi;qZDr nksuksa 

¼n½ mi;qZDr esa ls dksbZ ugha 

Indifference curve gives equilibrium of consumer : 

(a) Tangent of income curve 

(b) Tangent of budget line 

(c) Both of the above 

(d) None of the above 

15- rVLFkrk oØ izR;sd fcUnq ij % 

¼v½ ?kVrh gqbZ mi;ksfxrk dks 

¼c½ leku mi;ksfxrk dks 

¼l½ vleku mi;ksfxrk dks 

¼n½ mi;qZDr esa ls dksbZ ugha 
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Indifference curve on every point : 

(a) Diminishing utility 

(b) Equal utility 

(c) Unequal utility 

(d) None of the above 

16- vkUrfjd ,oa ckgjh cprksa ds dkj.k mRiUu gksrk gS % 

¼v½ iSekus dk fLFkj izfrQy 

¼c½ iSekus dk ?kVrk izfrQy 

¼l½ iSekus dk c<+rk izfrQy 

¼n½ mi;qZDr esa ls dksbZ ugha 

A rise due to Internal and External economies : 

(a) Constant returns to scale 

(b) Diminishing returns to scale 

(c) Increasing returns to scale 

(d) None of the above 

17- lk/kuksa ds vuqdwyre la;ksx dks tkuus ds fy;s vko’;d gS % 

¼v½ leksRikn ekufp= 

¼c½ leykxr js[kk 

¼l½ mi;qZDr nksuksa 

¼n½ mi;qZDr esa ls dksbZ ugha 
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One must know to find the optimal combination of  

means : 

(a) ISO product curve MAP 

(b) ISO cost line 

(c) Both of the above 

(d) None of the above 

18- fdu oLrqvksa dh ek¡x vk; ds lkFk izR;{k :i ls lEcfU/kr gksrh gS \ 

¼v½ vfuok;Z oLrq,¡ 

¼c½ fuÑ”V oLrq,¡ 

¼l½ foykflrk dh oLrq,¡ 

¼n½ mi;qZDr lHkh 

Which goods are directly related to demand ? 

(a) Necessities goods 

(b) Inferior goods 

(c) Luxurious goods 

(d) All of the above 

19- ,d lk/ku dh cktkj ek¡x fuHkZj djrh gS % 

¼v½ O;qRiUu ek¡x ij 

¼c½ lk/ku dh dher ij 

¼l½ lkekU; ek¡x ij 

¼n½ mi;qZDr esa ls dksbZ ugha 
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Market demand for a factor depends on : 

(a) Derived demand 

(b) Price of factor 

(c) Normal demand 

(d) None of the above 

20- vYikf/kdkj esa ls dkSu&lk ?kVd lfEefyr ugha gksrk \ 

¼v½ iw.kZ LFkkukiUu oLrq,¡ 

¼c½ vYi foØsrk 

¼l½ ijLij fuHkZjrk 

¼n½ foKkiu 

Which component is not included in Oligopoly ? 

(a) Perfect substitute goods 

(b) Few sellers 

(c) Mutual dependency 

(d) Advertisement 

 [k.M&c izR;sd 2  

(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % fdUgha vkB iz’uksa ds mŸkj 30&35 ‘kCnksa esa nhft,A 

 Attempt any eight questions in 30-35 words. 

1- ek¡x dh vk; yksp ls vki D;k le>rs gSa \ 

What do you mean by income elasticity of demand ? 
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2- fLFkj larqyu fdls dgrs gSa \ 

What is static balance ? 

3- mnklhurk ekufp= fdls dgrs gSa \ 

What is an indifference MAP ? 

4- iw.kZ izfr;ksfxrk dh nks ‘krs± crkb;sA 

State the two conditions of perfect competition. 

5- iw.kZ izfr;ksfxrk esa QeZ dher Lohdkj djus okyh D;ksa gksrh  

gS \ 

Why is the firm price taker in the perfect competition ? 

6- dher js[kk ;k ctV js[kk fdls dgrs gSa \ 

What is price line or budget line ? 

7- iSekus ds ?kVrs izfrQy ls vki D;k le>rs gSa \ 

What do you understand by the decreasing returns of the 

scale ? 

8- vYidkyhu mRiknu Qyu fdls dgrs gSa \ 

What is a short term production function ? 

9- vfLFkj lUrqyu fdls dgrs gSa \ 

What is unstable equilibrium ? 

10- ek¡x dh vkM+h yksp fdls dgrs gSa \ 

What is the cross elasticity of demand called ? 
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 [k.M&l izR;sd 3 

(Section—C) 

y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % fdUgha vkB iz’uksa ds mŸkj nhft,A 

 Attempt any eight questions. 

1- izdV vf/keku fl)kUr dh eq[; ckrksa dks le>kb,A 

Explain the main points of the revealed preference theory. 

2- ,dkf/kdkjkRed izfr;ksfxrk esa lewg lUrqyu dks le>kb,A 

Explain group equilibrium in monopolistic competition. 

3- iw.kZ izfr;ksfxrk dh fo’ks”krkvksa dks le>kb,A 

Explain the characteristics of the perfect competition. 

4- iSekus ds c<+rs izfrQy dks le>kb,A 

Explain the increasing returns to scale. 

5- ek¡x dh dher yksp ds izdkjksa dks le>kb,A 

Explain the types of price elasticity of demand. 

6- rduhdh izfrLFkkiu dh lhekUr nj D;k gS \ 

What is marginal rate of technical substitution ? 

7- ,dkf/kdkj esa larqyu dh ‘krs± crkb;sA 

Mention the equilibrium condition under monopoly. 
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8- dher foHksn ls vki D;k le>rs gSa \ 

What do you mean by price discrimination ? 

9- foØ; ykxrksa ls vki D;k le>rs gSa \ 

Explain the meaning of selling cost. 

10- vYikf/kdkj dh fo’ks”krkvksa dks le>kb,A 

Mention the characteristics of oligopoly. 

 [k.M&n izR;sd 5 

(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj 150&200 ‘kCnksa esa nhft,A 

 Attempt all questions in 150-200 words. 

1- fgDl ds izfrLFkkiu izHkko dks le>kb,A 

Explain the substitution effect of Hicks. 

vFkok 

¼Or) 

 ,dkf/kdkj esa ewY; fu/kkZj.k dks le>kb,A 

Explain price determination in monopoly. 

2- iw.kZ izfr;ksfxrk esa QeZ ds lkE; dks le>kb;sA 

Explain the equilibrium of firm in the perfect competition. 
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vFkok 

¼Or) 

 ek¡x dh yksp ls vki D;k le>rs gSa \ ek¡x dh yksp ds izdkjksa dks 

le>kb,A 

What do you understand by elasticity of demand ? Explain 

the types of elasticity of demand. 

3- mnklhurk oØ }kjk miHkksDrk ds lUrqyu dks crkb,A 

Explain consumer equilibrium through indifference curve. 

vFkok 

¼Or) 

 ifjorZu’khy vuqikrksa dk fu;e le>kb,A 

Explain the law of variable proportion. 

4- psEcjysu dk ^vfrfjDr {kerk* dk n`f”Vdks.k cukb;sA 

Mention the viewpoint of Chamberlain regarding ‘excess 

capacity’. 

vFkok 

¼Or) 

 vYikf/kdkj ds fodqafpr ek¡x oØ fl)kUr dks le>kb,A 

Discuss the kinked demand curve theory of oligopoly. 
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